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Read the following passage and answer the next five questions by choosing the correct options:-

Kalidasa's status as the major poet and dramatist in classical Sanskrit literature is unquestioned. once: when
poets were counted, Kalidasa occupied the little finger; the ring finger remains unnamed true to its name: for
his second has not been found.

That 1s high praise. Kalidasa's accomplishment is distinguished not only by the excellence of the ndividual
works, but by the many-sided which the whole achievements displays. He 15 a dramatist, a writer of epic and a
Iyric poet of extraordinary scope. In his hands the language attaind a remarkable flexibility, becoming an
instrument capable of sounding many moods and navaces of feeling; a language that 1s Limpid and flowing,
musical, uncluttered by the verbal virtuosities indulged in by writters who followed him: yet, remaining a
language loaded in every the rift with the rich ores of the literacy and mythical allusiveness of his cultural.
heritage By welding different elements to creat new genres, his important as an innovator in the history of
Sanskrit literature its clearly eastblished. The brilliant medieval lyric poet, Jayadeva, i prasing Kalidasa 1-
kula-guru (master of Poets), Conveys his recognition of this aspect of the poet greatness. Bana, the celebrated
author of the prose-romance kadambari exclaimed.

Who is not delighted when Kalidasa's perfect versel spring forth their sweetness, like honey-filled cluster of
flowers?

Thus drawing attention to the exquisite craftsmanship of the poet's verse for nearly two millennia, Kalidasa's
works have been read with deep appreciation. widely commented upon and lavishly praised. It would be safe
to assume that the poet enjoyed success. fame and affluence during this lifetime. We sense no hint of
dissatisfaction 1n his works, no sign bitterness at not recerving due recognition, Yet, we do not possess any
information about him, his life and the times in which that life unfolded and fulfilled itself. All we are left with
are a few legends. The poet has drawn as veil of silence round himself so complete that even hs real name 1s
unknown to posterity.

No name i affixed to the poems and epic: they have come down to us virtually anonymous. What information
we possess 18 derived from references to them by later poets and writers and the commentaries written on them
and from inscriptions. The name 15 met with only 1n the plays, where in each prologue, the author styles
himself as Kalidasa. Like others in Sanskrit literature, this name 1s descriptive: Vyasa, meaning 'the compiler',
is the author of the Mahabharata, Valmiki. he who emerged from the anthil (valmika); of the Ramayana
Similarly Kali-dasa means the votary or servant of Kali is time in the feminine (Kala 1s time); the concept of
times as creative principle is an old as Vedas. "We can then translate the name Kali-dasa as 'the sevant of time',
a phrase that prompts us to explore its significance,

Sub questions

Question Number : 1 Question Id : 6863402729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



What 1s the main idea of the excerpt?
1. The mystery and obscurity surrounding the name and life of Kalidasa
2. The exploration of the literary and mythical allusiveness in the language of Kalidasa
3. Presenting Kalidasa as a supreme innovator

4. Appreciation of Kalidas's distinguished stature as a dramatist epic and Iyric poet

Options :

68634010801. 1
68634010802. 2
68634010803. 3

68634010804. 4

Question Number : 2 Question Id : 6863402730 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are true, with reference to Kalidasa?

1. his language 15 enriched with the literary and mythical allusiveness of his cultural heritage

2. He can be called an mnovator in the history of sanskrit literature he welds different elements to create
New geures

3. He was a dramatist, an epic and literary poet of extraordinary scope

4. The bitterness and dissatifaction of not having been adequately recognized in the works of the later
petiod
Options :
68634010805. 1
68634010806. 2
68634010807. 3
68634010808. 4



Question Number : 3 Question Id : 6863402731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Kalidasa's 1s "a language loaded m every rift with the rich ores of Literary and mythical allusiveness."

The literary device used in the underlined segment 1s:
1. Imagery
2, Asyndeton
3. Personification

4. Metaphor

Options :

68634010809. 1
68634010810. 2
68634010811. 3

68634010812. 4

Question Number : 4 Question Id : 6863402732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT based on the information in the passage:

LISTI LISTII
A |Valmiki-"he who emerged from the authill” I |The author of Mahabharatha
B. Javadeva-brilliant medival lyric poet II. |Anonvmous works
C. [Kalidasa-"The servant of time"-Master of poets | IIL |The author of prose-romance Kadambari
D. [Vvasa-the compiler IV |The author of the Ramavana

Choose the most appropriate answer from the options given below:
1. A-IV, B-II. C-I11. D-I
2. A-IV. B-IIL C-IL. D-I
3. A-IV. B-IIL. C-1. D-II

4. A-L. B-IL. C-IV, D-III

Options:

68634010813. 1
68634010814. 2
68634010815. 3
68634010816. 4

Question Number : 5 Question Id : 6863402733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT to highlight trhe sauant features of Kalidasa's age

LISTI LISTII

An innovator who joined or

A, |Uncluttered by verbal virtuosities I. |amalgamated different elements to create new|
geures

B. [Literary and mythical allusiveness Ii. Ralidgsas pereorial (He: s not curaled to

- - posterity

T ———— m Free of the excessive culture and display of
verbal skill

D. [Welding different elements to create new geures| [V, &Ziﬁfence s

Choose the most appropriate answer from the options given below:
1. A-IV. B-IL C-III. D-I
2. A-IL B-I, C-IV. D-III
3. A-IIL B-IV. C-I1L DA

4 A-IIL B-1. C-IV, D-II

Options :

68634010817. 1
68634010818. 2
68634010819. 3

68634010820. 4

Question Id : 6863402728 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension



Read the following passage and answer the next five questions by choosing the correct options:-

Kalidasa's status as the major poet and dramatist in classical Sanskrit literature is unquestioned. once: when
poets were counted, Kalidasa occupied the little finger; the ring finger remains unnamed true to its name: for
his second has not been found.

That 1s high praise. Kalidasa's accomplishment is distinguished not only by the excellence of the ndividual
works, but by the many-sided which the whole achievements displays. He 15 a dramatist, a writer of epic and a
Iyric poet of extraordinary scope. In his hands the language attaind a remarkable flexibility, becoming an
instrument capable of sounding many moods and navaces of feeling; a language that 1s Limpid and flowing,
musical, uncluttered by the verbal virtuosities indulged in by writters who followed him: yet, remaining a
language loaded in every the rift with the rich ores of the literacy and mythical allusiveness of his cultural.
heritage By welding different elements to creat new genres, his important as an innovator in the history of
Sanskrit literature its clearly eastblished. The brilliant medieval lyric poet, Jayadeva, i prasing Kalidasa 1-
kula-guru (master of Poets), Conveys his recognition of this aspect of the poet greatness. Bana, the celebrated
author of the prose-romance kadambari exclaimed.

Who is not delighted when Kalidasa's perfect versel spring forth their sweetness, like honey-filled cluster of
flowers?

Thus drawing attention to the exquisite craftsmanship of the poet's verse for nearly two millennia, Kalidasa's
works have been read with deep appreciation. widely commented upon and lavishly praised. It would be safe
to assume that the poet enjoyed success. fame and affluence during this lifetime. We sense no hint of
dissatisfaction 1n his works, no sign bitterness at not recerving due recognition, Yet, we do not possess any
information about him, his life and the times in which that life unfolded and fulfilled itself. All we are left with
are a few legends. The poet has drawn as veil of silence round himself so complete that even hs real name 1s
unknown to posterity.

No name i affixed to the poems and epic: they have come down to us virtually anonymous. What information
we possess 18 derived from references to them by later poets and writers and the commentaries written on them
and from inscriptions. The name 15 met with only 1n the plays, where in each prologue, the author styles
himself as Kalidasa. Like others in Sanskrit literature, this name 1s descriptive: Vyasa, meaning 'the compiler',
is the author of the Mahabharata, Valmiki. he who emerged from the anthil (valmika); of the Ramayana
Similarly Kali-dasa means the votary or servant of Kali is time in the feminine (Kala 1s time); the concept of
times as creative principle is an old as Vedas. "We can then translate the name Kali-dasa as 'the sevant of time',
a phrase that prompts us to explore its significance,

Sub questions

Question Number : 1 Question Id : 6863402729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



What 1s the main idea of the excerpt?
1. The mystery and obscurity surrounding the name and life of Kalidasa
2. The exploration of the literary and mythical allusiveness in the language of Kalidasa
3. Presenting Kalidasa as a supreme innovator

4. Appreciation of Kalidas's distinguished stature as a dramatist epic and Iyric poet

Options :

68634010801. 1
68634010802. 2
68634010803. 3

68634010804. 4

Question Number : 2 Question Id : 6863402730 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are true, with reference to Kalidasa?

1. his language 15 enriched with the literary and mythical allusiveness of his cultural heritage

2. He can be called an mnovator in the history of sanskrit literature he welds different elements to create
New geures

3. He was a dramatist, an epic and literary poet of extraordinary scope

4. The bitterness and dissatifaction of not having been adequately recognized in the works of the later
petiod
Options :
68634010805. 1
68634010806. 2
68634010807. 3
68634010808. 4



Question Number : 3 Question Id : 6863402731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Kalidasa's 1s "a language loaded m every rift with the rich ores of Literary and mythical allusiveness."

The literary device used in the underlined segment 1s:
1. Imagery
2, Asyndeton
3. Personification

4. Metaphor

Options :

68634010809. 1
68634010810. 2
68634010811. 3

68634010812. 4

Question Number : 4 Question Id : 6863402732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT based on the information in the passage:

LISTI LISTII
A |Valmiki-"he who emerged from the authill” I |The author of Mahabharatha
B. Javadeva-brilliant medival lyric poet II. |Anonvmous works
C. [Kalidasa-"The servant of time"-Master of poets | IIL |The author of prose-romance Kadambari
D. [Vvasa-the compiler IV |The author of the Ramavana

Choose the most appropriate answer from the options given below:
1. A-IV, B-II. C-I11. D-I
2. A-IV. B-IIL C-IL. D-I
3. A-IV. B-IIL. C-1. D-II

4. A-L. B-IL. C-IV, D-III

Options:

68634010813. 1
68634010814. 2
68634010815. 3
68634010816. 4

Question Number : 5 Question Id : 6863402733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT to highlight trhe sauant features of Kalidasa's age

LISTI LISTII

An innovator who joined or

A, |Uncluttered by verbal virtuosities I. |amalgamated different elements to create new|
geures

B. [Literary and mythical allusiveness Ii. Ralidgsas pereorial (He: s not curaled to

- - posterity

T ———— m Free of the excessive culture and display of
verbal skill

D. [Welding different elements to create new geures| [V, &Ziﬁfence s

Choose the most appropriate answer from the options given below:

1. A-IV. B-IL C-III. D-I
2. A-IL B-I, C-IV. D-III
3. A-IIL B-IV. C-I1L DA
4. A-IIL B-L. C-IV. D-II

Options :

68634010817. 1

68634010818. 2

68634010819. 3

68634010820. 4

Sub-Section Number : 2
Sub-Section Id : 68634083
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863402734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT to identify the type of Adverbial clause used in List I

LISTI LISTII
The performances were cancelled because
A ;
[the leading man was unwell
B Surely vou don't intend to live by
" fyourself like she does

[. |Concessive adverbial clause

II. |Adverbial clause of reazon

C. |When the city 1s dark, we can move around easily | III. |Adverbial clause of manner
D Although crocodiles are thactive for long periods on,
" |occasion they can run very fast indeed

IV |Adverbial clause of time

Choose the most appropriate answer from the options given below:
1. AIL. B-1. C-III. D-IV
2. AL B-IL C-1. D-IV
3. A-IL B-IIL. C-IV. D-I

4. A-L. B-III, C-II. D-IV

Options :

68634010821. 1
68634010822. 2
68634010823. 3

68634010824. 4

Question Number : 6 Question Id : 6863402734 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT to identify the type of Adverbial clause used in List I

LISTI LISTII
The performances were cancelled because
A ;
[the leading man was unwell
B Surely vou don't intend to live by
" fyourself like she does

[. |Concessive adverbial clause

II. |Adverbial clause of reazon

C. |When the city 1s dark, we can move around easily | III. |Adverbial clause of manner
D Although crocodiles are thactive for long periods on,
" |occasion they can run very fast indeed

IV |Adverbial clause of time

Choose the most appropriate answer from the options given below:
1. AIL. B-1. C-III. D-IV
2. AL B-IL C-1. D-IV
3. A-IL B-IIL. C-IV. D-I

4. A-L. B-III, C-II. D-IV

Options :

68634010821. 1
68634010822. 2
68634010823. 3

68634010824. 4

Question Number : 7 Question Id : 6863402735 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT Michael Mccarthy and fill the suitable phrasal values i the blanks.

LISTI LISTII

A [The escaped convict on an oil tanker L |5logging away
Jo has ben at her revision all morning i

B. T i II. [Whittling away
Why don't vou take her some coffee s
Every vear the management 1s at jobs. ;

b i : F—— &l III. [Dumbing down|
[Now there are fewer than 100 employees in the company &
There are complaints that many universities .

D. pE g IV. [Stowed away
are their degree courses in order to attract more students 5

Choose the most appropriate answer from the options given below:
1. A-IV, B-IIIL C-1, D-II
2. A-IV. B-II. C-II1. D1
3. A-IV, B-I. C-II, D-III

4. A-II, B-IV, C-1. D-III

Options :

68634010825. 1
68634010826. 2
68634010827. 3

68634010828. 4

Question Number : 7 Question Id : 6863402735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT Michael Mccarthy and fill the suitable phrasal values i the blanks.

LISTI LISTII

A [The escaped convict on an oil tanker L |5logging away
Jo has ben at her revision all morning. i

B. T i II. [Whittling away
Why don't vou take her some coffee s
Every vear the management 1s at jobs. ;

b i : F—— &l III. [Dumbing down|
[Now there are fewer than 100 employees in the company &
There are complaints that many universities .

D. pE g IV. [Stowed away
are their degree courses in order to attract more students 5

Choose the most appropriate answer from the options given below:
1. A-IV, B-IIIL C-1, D-II
2. A-IV. B-II. C-II1. D1
3. A-IV, B-I. C-II, D-III

4. A-II, B-IV, C-1. D-III

Options :

68634010825. 1
68634010826. 2
68634010827. 3

68634010828. 4

Question Number : 8 Question Id : 6863402736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The Central government Wednesday launched the early childhood care and education programme
keeping the National Education Policy 2020 for all its 13.9 lakh functional anganwadis under
the banner "Poshan Bl Padhai Bh."

l.on, in. with

2. at. with, m

3. on, with, for

4. on. for, n



Options :

68634010829. 1
68634010830. 2
68634010831. 3

68634010832. 4

Question Number : 8 Question Id : 6863402736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The Central government Wednesday launched the early childhood care and education programme

keeping the National Education Policy 2020 for all its 13.9 lakh functional anganwadis under
the banner "Poshan Bhi Padhai Bhi."

l.on, . with
2. at. with. in
3. on, with. for

4. on. for, n

Options :

68634010829. 1
68634010830. 2
68634010831. 3

68634010832. 4

Question Number : 9 Question Id : 6863402737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correctly spelt word from the given options

1. TESSERA

[ ]

. TISSERA

faa

. TESEERA

4. TESSEAR

Options :

68634010833. 1
68634010834. 2
68634010835. 3

68634010836. 4

Question Number : 9 Question Id : 6863402737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given options

1. TESSERA

| ]

. TISSERA

Taa

. TESEERA

4. TESSEAR

Options :

68634010833. 1
68634010834. 2
68634010835. 3

68634010836. 4

Question Number : 10 Question Id : 6863402738 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Leaving a meeting as an expression of disapproval 1s called.

1. Walk on
2. Walk off
3. Walk in
4. Walk out

Options:

68634010837. 1

68634010838. 2

68634010839. 3

68634010840. 4

Question Number : 10 Question Id : 6863402738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Leaving a meeting as an expression of disapproval is called.

1. Walk on

-2

. Walk off
3. Walk in

4. Walk out

Options :

68634010837. 1
68634010838. 2
68634010839. 3

68634010840. 4



Question Number : 11 Question Id : 6863402739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A sum of money lent on compound interest amounts to 3968 1n 2 years at 10% per annum mterest
compounded annually. find the sum.

1.Rs 827

2.Rs 845

3. Rs 800

4.RS 889
Options :
68634010841. 1
68634010842. 2

68634010843. 3
68634010844. 4

Question Number : 11 Question Id : 6863402739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A sum of money lent on compound interest amounts to Z968 1 2 years at 10% per annum mterest
compounded annually. find the sum.

1.Rs 827
2.Rs 845
3. Rs 800
4.RS 889
Options :

68634010841. 1

68634010842. 2



68634010843. 3
68634010844. 4

Question Number : 12 Question Id : 6863402740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

While finding the average marks of the class, marks of one student were wrongly entered as 93 nstead of 63
resulting to an increase in the average by 0.5 mark. The number of students in the class .

Options:

68634010845. 1
68634010846. 2
68634010847. 3
68634010848. 4

Question Number : 12 Question Id : 6863402740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

While finding the average marks of the class, marks of one student were wrongly entered as 93 instead of 63
resulting to an increase in the average by 0.5 mark. The number of students in the class is.



Options :

68634010845. 1
68634010846. 2
68634010847. 3
68634010848. 4

Question Number : 13 Question Id : 6863402741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The diameter of a solid right circular cone 1s 14cm and its slant height is 10cm. The rate of colouring of the

. ; 22
cone is 14/cm? The cost of colouring  use [;? = —]
\

1.25036
2.35136
3. 35260

4.35236

Options:

68634010849. 1
68634010850. 2
68634010851. 3
68634010852. 4

Question Number : 13 Question Id : 6863402741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The diameter of a solid right circular cone 1s 14cm and its slant height is 10cm. The rate of colouring of the

. : 22
cone is £14/cm” The cost of colouring  use (;? = 7]
L

1.25036
2.35136
3. 35260

4.35236

Options:

68634010849. 1
68634010850. 2
68634010851. 3
68634010852. 4

Question Number : 14 Question Id : 6863402742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

How many kilograms of sugar costing RS 45 per kg must be mixed with 27 kg of sugar costing Rs35 per kg so
that there is a gain of 10% by selling the mixture at Rs46.20 per kg?

1.36

2.42

3.54

4.63
Options :
68634010853. 1
68634010854, 2

68634010855. 3

68634010856. 4



Question Number : 14 Question Id : 6863402742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

How many kilograms of sugar costing RS 45 per kg must be mixed with 27 kg of sugar costing Rs35 per kg so
that there is a gain of 10% by selling the mixture at Rs46.20 per kg?

1.36
2.42
3.54

4,63

Options :

68634010853. 1
68634010854. 2
68634010855. 3
68634010856. 4

Question Number : 15 Question Id : 6863402743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A and B together can do a work m 30 days. they worked together for 20 days and then B left A alone finished
the rematning work in 20 days. In how many days A alone can do the whole work?

1.60

4.40

Options :
68634010857. 1

68634010858. 2



68634010859. 3
68634010860. 4

Question Number : 15 Question Id : 6863402743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A and B together can do a work m 30 days. they worked together for 20 days and then B left A alone finished
the remaining work in 20 days. In how many days A alone can do the whole work?

1. 60

4.40

Options:

68634010857. 1
68634010858. 2
68634010859. 3
68634010860. 4

Question Number : 16 Question Id : 6863402744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct option complete the figure series problem figure:

O—> | <O

)

3.1 O—>
.| O—
Options :

68634010861. 1
68634010862. 2
68634010863. 3

68634010864. 4

Question Number : 16 Question Id : 6863402744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct option complete the figure series problem figure:

O—> | <O

)

3.1 O—>
.| O—
Options :

68634010861. 1
68634010862. 2
68634010863. 3

68634010864. 4

Question Number : 17 Question Id : 6863402745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Answer the below mentioned question on the basic of the given statements and assumptions.

Statements- The company has recently announced series mcentives to the employee who are punctual and
sincere

Assumptions: [: those who are not punctual at present may get motivated by the announcement

II: The productivity of the company may increase

III: The profit carned by the company may be more than the amount to be spent for the mcentive
programme

1. Only I 1s right
2. Only II 15 right
3. Tand IT are right

4, T and ITT are right

Options :

68634010865. 1
68634010866. 2
68634010867. 3

68634010868. 4

Question Number : 17 Question Id : 6863402745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Answer the below mentioned question on the basic of the given statements and assumptions.

Statements- The company has recently announced series mcentives to the employee who are punctual and
sincere

Assumptions: [: those who are not punctual at present may get motivated by the announcement

II: The productivity of the company may increase

III: The profit carned by the company may be more than the amount to be spent for the mcentive
programme

1. Only I 1s right
2. Only II 15 right
3. Tand IT are right

4, T and ITT are right

Options :

68634010865. 1
68634010866. 2
68634010867. 3

68634010868. 4

Question Number : 18 Question Id : 6863402746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the missing term:
0,3,8,15, 24,7

1.32

| ]

.33
3. 34
4. 35

Options :

68634010869. 1



68634010870. 2
68634010871. 3

68634010872. 4

Question Number : 18 Question Id : 6863402746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the missing term:
0,3,8,15,24. 7

1. 32

23

L]

3. 34

4. 35

Options :

68634010869. 1
68634010870. 2
68634010871. 3

68634010872. 4

Question Number : 19 Question Id : 6863402747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suray's school bus 15 facing North when it reaches his school. After starting from Suraj's house. it turns right
twice and then turn left before reachmg the school which direction was the bus facing when it left the bus stop
i front of Suraj house?

1. East
2. West
3. North

4. South

Options:

68634010873. 1
68634010874. 2
68634010875. 3

68634010876. 4

Question Number : 19 Question Id : 6863402747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Suray's school bus 15 facing North when it reaches his school. After starting from Suraj's house. it turns right
twice and then turn left before reaching the school which direction was the bus facing when it left the bus stop
i front of Suraj house?

1. East

2. West

3. North

4, South
Options:
68634010873. 1
68634010874. 2

68634010875. 3

68634010876. 4



Question Number : 20 Question Id : 6863402748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
If Raman says, "Anil's mother is the only daughter of my mother", How is Raman related to Anil?
1. Father
2. Brother

3. Maternal uncle

4, Grand father

Options :

68634010877. 1
68634010878. 2
68634010879. 3
68634010880. 4

Question Number : 20 Question Id : 6863402748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
If Raman says. "Amil's mother 1s the only daughter of my mother", How is Raman related to Anil?

1. Father
2. Brother
3. Maternal uncle
4. Grand father

Options :

68634010877. 1

68634010878. 2



68634010879. 3

68634010880. 4

Question Number : 21 Question Id : 6863402749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Gas that was leaked during 'Bhopal gas tragedy 1s

1. Ethyl 1sothiocyanate

[ ]

. Methyl 1socyanate

%]

. Soliam 1sothiocyanate
4. Methyl per oxide

Options:

68634010881. 1

68634010882. 2

68634010883. 3
68634010884. 4

Question Number : 21 Question Id : 6863402749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Gas that was leaked during 'Bhopal gas tragedy 1s
1. Ethyl 1sothiocyanate
2. Methyl 1socyanate
3. Soliam isothiocyanate

4. Methyl per oxide

Options:



68634010881. 1
68634010882. 2
68634010883. 3

68634010884. 4

Question Number : 22 Question Id : 6863402750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I Phases of Buddha's Lifed LIST II Symbols
A |Renunciation [ |Stupa
E. [Enlightenment II. [Horse
C. [First sermon III. [Wheel
D. [Death IV. |Bodhi tree

Choose the most appropriate answer from the options given below:

1. A-II. B-IV. C-IIL. D-I

[ ]

CA-IV, B-II, C-III, D-I

L]

A-IL B-IV. C-I. D-III

4. A-1. B-II. C-III. D-IV

Options :

68634010885. 1
68634010886. 2
68634010887. 3

68634010888. 4

Question Number : 22 Question Id : 6863402750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I Phases of Buddha's Life LIST II Symbols
A |Fenunciation [ |Stupa
B. [Enlightenment II. [Horse
C. |First sermon III. [Wheel
D. |Death IV |Bodhi tree

Choose the most appropriate answer from the options given below:

1. A-II. B-IV. C-III. D-I

| ]

.A-IV. B-II C-IIL, D-I
3. A-II. B-IV. C-1. D-III
4. A-I. B-II. C-III. D-IV

Options:

68634010885. 1

68634010886. 2

68634010887. 3

68634010888. 4

Question Number : 23 Question Id : 6863402751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who has become the first women President of the Indian Olympic Association (I0A)?
1. Deepa Karmakar
2. Mary Kom
3. Pt Usha
4. Karnam Malleshwari
Options:

68634010889. 1
68634010890. 2



68634010891. 3
68634010892. 4

Question Number : 23 Question Id : 6863402751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who has become the first women President of the Indian Olympic Association (I0A)?
1. Deepa Karmakar
2. Mary Kom
3. Pt Usha

4. Karnam Malleshwari

Options :

68634010889. 1
68634010890. 2
68634010891. 3

68634010892. 4

Question Number : 24 Question Id : 6863402752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statement I: Green revolution is the phrase generally used to describe the spectacular increase that took place
during 1968

Statement IT: Green revolution was introduced by Lal Bahadur Shastri
In the light of the above statements, choose the most appropriate answer from the options given below:
1. Both Statement I and Statement I are correct
2. Both Statement I and Statement IT are meorrect
3. Statement [ 15 correct but Statement IT 1s meorrect
4, Statement I 1s meorrect but Statement IT 1s correct
Options :
68634010893. 1
68634010894. 2

68634010895. 3
68634010896. 4

Question Number : 24 Question Id : 6863402752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: Green revolution 1s the phrase generally used to describe the spectacular increase that took place
during 1968

Statement IT: Green revolution was introduced by Lal Bahadur Shastri
In the light of the above statements, choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are meorrect
3. Statement I 1 correct but Statement IT 15 incorrect
4. Statement I 1s meorrect but Statement I 1s correct

Options :

68634010893. 1



68634010894. 2
68634010895. 3

68634010896. 4

Question Number : 25 Question Id : 6863402753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which Article give power to President of India to promugate ordinances, when the parliament is not in
; Loy
session’

1. Article 51A
2. Article 151
3. Article 123

4, Article 356

Options :

68634010897. 1
68634010898. 2
68634010899. 3

68634010900. 4

Question Number : 25 Question Id : 6863402753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which Article give power to President of India to promugate ordinances. when the parliament 1s not in
y L,
session’

1. Article 51A

| ]

. Article 151
3. Article 123
4. Article 356
Options :
68634010897. 1
68634010898. 2

68634010899. 3

68634010900. 4

Part B: Painting

SectionId: 68634056
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 300
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 68634084
Question Shuffling Allowed : Yes

Is Section Default?: null



Question Number : 26 Question Id : 6863402754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Harmony can be defined as-

1. Complimentary among all the elements

[ ]

. Simularity among elements

L]

. Repetition

F=

. Dissimilarity

Options:

68634010901. 1
68634010902. 2
68634010903. 3

68634010904. 4

Question Number : 26 Question Id : 6863402754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

OIS I g avg Uy fhar oI 9l ¢ |
1. gl deal & o= A
2. Tcdl & & JHal
3. TRIgHR
4. SIGRIGHT
Options :

68634010901. 1

68634010902. 2



68634010903. 3
68634010904. 4

Question Number : 27 Question Id : 6863402755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ilusionistic painting that looks hyper real.

—

. Impasto

[ ]

. Encaustic

%]

. Trompe l'o1l

4. Alla prima pamting

Options:

68634010905. 1
68634010906. 2
68634010907. 3
68634010908. 4

Question Number : 27 Question Id : 6863402755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

yraral ifd gt fFEm g |
1. g

U S

3. CTHICT 31

-

[ -]

. 3Tl WIS HI femanan

e



Options :

68634010905. 1
68634010906. 2
68634010907. 3
68634010908. 4

Question Number : 28 Question Id : 6863402756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who painted "Omar Khayyam"-
1. Nandalal Bose
2. Abanindranath Tagore
3. Amrita Shergil

4. Asit Kumar Haldar

Options :

68634010909. 1
68634010910. 2
68634010911. 3

68634010912. 4

Question Number : 28 Question Id : 6863402756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



IR G fob g f=raor foba -
1. T<drd 9
2. A TR
3. 3 I
4, YT PR BER
Options :
68634010909. 1
68634010910. 2

68634010911. 3

68634010912. 4

Question Number : 29 Question Id : 6863402757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1 labelled as Assertion A and the other 15 labelled as Reason R
Assertion A: Ajanta murals were done 1 tempera style.

Reason R: A plaster consisting of stone powder, cow dung and rice straw was used to cover the rough surface
already prepared.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct
4. A 18 not correct but R is correct
Options :

68634010913. 1

68634010914. 2



68634010915. 3
68634010916. 4

Question Number : 29 Question Id : 6863402757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Rt mE Asmt IRRaR |

A A - e FRA P A & & |
T |
TRIF DUl & U # A T 0 et A § TR I TR A |

LeAAMR R G 3R R A & o aren §
i ARREEESRR A e o a8 &

3. A & of R 7o &
4. A T oftT R @@ ¢
Options :

68634010913. 1
68634010914. 2
68634010915. 3

68634010916. 4

Question Number : 30 Question Id : 6863402758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



20t ¢ entury Mexican artist known for his mural paintings in buon fresco technique-

1. Frida Khalo

| ]

. Jose' Orozeo
3. Diego Rivera

4. David Siqueiros

Options :

68634010917. 1
68634010918. 2
68634010919. 3

68634010920. 4

Question Number : 30 Question Id : 6863402758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2001 §&] 1 Hfegep SABR HUA RRe UIET o] Tl depeiie b AT 4 - Wl § |

1. rsTredl
2. S SR
3. faum v
4. sfds fhaavd

Options :

68634010917. 1

68634010918, 2

68634010919. 3

68634010920. 4

Question Number : 31 Question Id : 6863402759 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The pamnting technique which uses small dabs of colours to build the painted surface-
1. S'grattito
2. Alla Prima
3. Impasto

4. Pomtillism

Options :

68634010921. 1
68634010922. 2
68634010923. 3

68634010924. 4

Question Number : 31 Question Id : 6863402759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fer0r g oo 3 T 31 B1eT Sie 3@ B [0 S & Gp-1P o |
1. THifteel
2. T WISl

e

1 g

Options :

L]

68634010921. 1
68634010922. 2

68634010923. 3



68634010924. 4

Question Number : 32 Question Id : 6863402760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The complementary colour of Green in colour wheel 1s-

1. Yellow

[ ]

.Red
3. Brown

4. Blue

Options:

68634010925. 1
68634010926. 2
68634010927. 3
68634010928. 4

Question Number : 32 Question Id : 6863402760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT B B BT R F1§ |
1. die
2. 1|
3.4
4. e

Options :



68634010925. 1
68634010926. 2
68634010927. 3

68634010928. 4

Question Number : 33 Question Id : 6863402761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The final plastering coat in wall preparation buon fresco technique 1s called-

1. intonaco

[ ]

. intaglio
3. secco
4, arricio

Options :

68634010929. 1
68634010930. 2
68634010931. 3

68634010932. 4

Question Number : 33 Question Id : 6863402761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



] H AR G 11 8 05 B (U PR b 70 WRSR PIe Il oIl |

1. Sl
). Sefreray
3, 99
4. SRR

Options :

68634010929. 1

68634010930. 2

68634010931. 3

68634010932. 4

Question Number : 34 Question Id : 6863402762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
These paints have a plastic binder medium and are soluble in water-

1. soft pastels
2. gouache
3. acrylic paints
4. water colour

Options:

68634010933. 1

68634010934. 2

68634010935. 3

68634010936. 4

Question Number : 34 Question Id : 6863402762 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g4 e § Wiied aIgre H1eH 5idl § SR Ul § ge-siia giar g |
1. YIfe e

| ]

Idi

. Ushicid Hax

4. dlcY el

L]

Options :

68634010933. 1
68634010934. 2
68634010935. 3

68634010936. 4

Question Number : 35 Question Id : 6863402763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

'To create a work 1s to create a world' 15 a famous quotation by

—

. Kandinsky

| ]

. Picasso

L]

. Rembrandt

4. Jamini Roy

Options :
68634010937. 1
68634010938. 2

68634010939. 3



68634010940. 4

Question Number : 35 Question Id : 6863402763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foodt Sl &1 A1 F1 of O9R &1 W= & IS g|

1. PIFe®]
2. Ol
3. ¥l
4. SR

Options :

68634010937 1

68634010938. 2

68634010939. 3

68634010940. 4

Question Number : 36 Question Id : 6863402764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

William Blake was-

1. Sculptor

[ ]

. Printmaker

. Film maker

faa

4. Performance Artist

Options :



68634010941. 1
68634010942. 2
68634010943. 3

68634010944. 4

Question Number : 36 Question Id : 6863402764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
faferom =@ o
1.4 APR

 BIUBR
ENIEEREEIR]

4. AlChH PR

| ]

L]

Options :

68634010941. 1
68634010942. 2
68634010943. 3

68634010944. 4

Question Number : 37 Question Id : 6863402765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Tyeb Mehta's triptych painting 'Celebration’ 1s in which medium-

1. Woodcut

[ ]

. Acrylic on canvas

faa

. O1l pastels

4. Water colours

Options :

68634010945. 1
68634010946. 2
68634010947. 3

68634010948. 4

Question Number : 37 Question Id : 6863402765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Jgq Hgar i RS Ui i fog arem d g -
1.98 ®<
2. Uehferd 3 H=1arg
3. A 4T
4. GIER BT

Options:

68634010945. 1
68634010946. 2
68634010947. 3

68634010948. 4

Question Number : 38 Question Id : 6863402766 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Byzantine site of Ravenna 1s known for its

1. Stam glass

[ )

. Mosaic

. Water colours

L)

4. o1l colour

Options :

68634010949. 1
68634010950. 2
68634010951. 3

68634010952. 4

Question Number : 38 Question Id : 6863402766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

99 P dlguli-- Ige & g oFT ol &
1. ¥ W
2. AN
3. GIER BER
4. 319d DR

Options :

68634010949. 1
68634010950. 2
68634010951. 3



68634010952. 4

Question Number : 39 Question Id : 6863402767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The technique of printmaking that utilizes Acid in the process of making a plate 1s called-

1. Etching
2. Engraving
3. Drypoint
4. Mezzotint

Options:

68634010953. 1

68634010954. 2

68634010955. 3
68634010956. 4

Question Number : 39 Question Id : 6863402767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

[Sie BidT qep-iies © TS &1 SUdiv @ie 1 (UR & § [l S § |
1. ST

SEPILy

FE @R

4. Alie<

| ]

L% ]

Options :



68634010953. 1
68634010954. 2
68634010955. 3

68634010956. 4

Question Number : 40 Question Id : 6863402768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Do Poiga Zamin is an artwork by-
1. Chuttaprosad
2. MLF. Husan

. FN. Souza

L]

4. AN. Tagore

Options :

68634010957. 1
68634010958. 2
68634010959. 3

68634010960. 4

Question Number : 40 Question Id : 6863402768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



<l faen oA gt Baepid 8 |
1. Ferdil yme
2. UH. U, g4

3. U%. UA. gull
4. Q. TH. 2R

Options :

68634010957. 1
68634010958. 2
68634010959. 3

68634010960. 4

Question Number : 41 Question Id : 6863402769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One major site of cave paintings in India is-

—

. Elephanta Caves

[ ]

. Ellora

L]

. Ajanta

4. Bagh Caves

Options :

68634010961. 1
68634010962. 2
68634010963. 3

68634010964. 4

Question Number : 41 Question Id : 6863402769 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

YR T THT B &1 U U@ &4 7F |
1. Yferth=c1 %1

2. UaIRT

3. Juld

4. 919 T[]

Options :

68634010961. 1
68634010962. 2
68634010963. 3

68634010964. 4

Question Number : 42 Question Id : 6863402770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Michelangelo's 'The Last judgement' at Sistine chapel 15 a

1. Tempera

[ ]

. 1l on canvas

. Fresco

L]

4, Mosaic

Options :
68634010965. 1
68634010966. 2

68634010967. 3



68634010968. 4

Question Number : 42 Question Id : 6863402770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIgeha UfSTell 1 'S TRe Siofie US Rerg1 9ua 5¢ -
1. CIOR]

2. I AT HaY

3. Tl
4. IS H

Options :

68634010965. 1
68634010966. 2
68634010967. 3

68634010968. 4

Question Number : 43 Question Id : 6863402771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A composition 18 made with how many basic constitutes?

1.3

[ ]

.6

4

L]

4,7

Options :



68634010969. 1
68634010970. 2
68634010971. 3

68634010972. 4

Question Number : 43 Question Id : 6863402771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fda- gd dadl 3 U 391 &+l ©
1.3 @M

6 (TY)

| ]

L]

4 (dR)
4. 7 (H1q)

Options:

68634010969. 1
68634010970. 2
68634010971. 3

68634010972. 4

Question Number : 44 Question Id : 6863402772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Linoleum sheets has been used for-

1. Drawing

| ]

. Etching

Taa

. Relief Print making

F=s

. Photo Development

Options :

68634010973. 1
68634010974. 2
68634010975. 3

68634010976. 4

Question Number : 44 Question Id : 6863402772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

femIf-rrm gfie ST uam sid & -

4
-
3. JHIX ddeg HaUl
4. BIc fdb
Options :
68634010973. 1
68634010974. 2

68634010975. 3

68634010976. 4

Question Number : 45 Question Id : 6863402773 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Line 1s an important element of art in which medium?

1. Film making

[ )

. Sculpture

L)

. Photography

4. Drawing

Options:

68634010977. 1
68634010978. 2
68634010979. 3
68634010980. 4

Question Number : 45 Question Id : 6863402773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g TTens B 301 0P He@qul dd § 2
1. IataA fHAmior
2. Ffciepe
3. B/ =0
4. 3GPp
Options :
68634010977. 1

68634010978. 2

68634010979. 3



68634010980. 4

Question Number : 46 Question Id : 6863402774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which colour 1s obtained from the mineral 'terra verte'?

1. Red

[ ]

.Blue
3. Pink

4. Green

Options:

68634010981. 1
68634010982. 2
68634010983. 3
68634010984. 4

Question Number : 46 Question Id : 6863402774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

@I I 1 G0l SRIAC ° W glal g ?
1. &
2. Hta
3. T[erat
4.2x1

Options :



68634010981. 1
68634010982. 2
68634010983. 3

68634010984. 4

Question Number : 47 Question Id : 6863402775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
An o1l painting technique where thick paint is applied so that the brushstrokes are visible-

1. Impasto
2. Stippling
3. Cluaroscuro
4. Intaglio

Options :

68634010985. 1

68634010986. 2

68634010987. 3

68634010988. 4

Question Number : 47 Question Id : 6863402775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



T U dep-iic B TERT I T aifdh SARIT - R I LS [T 2 |

1, gHEL
2. eyl

3. IREERRI
4. gl

Options :

68634010985. 1
68634010986. 2
68634010987. 3

68634010988. 4

Question Number : 48 Question Id : 6863402776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Printmaking technique that works on the antipathy between grease and water 1s-

1. Etching
2. Collography
3. Drypomt
4, Lithography

Options :

68634010989. 1

68634010990. 2

68634010991. 3

68634010992. 4

Question Number : 48 Question Id : 6863402776 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ficafdT apHe § 7 SR Ul Ue gk & [quRd PR d=d & |
1. g
2. HIeraiTs!
3. gk @IRe
4. feruromet

Options :

68634010989. 1
68634010990. 2
68634010991. 3

68634010992. 4

Question Number : 49 Question Id : 6863402777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Hue can be defined as-

1. Tendency of colour

|

. Colour Scheme

. Colour brand

L]

4. Pure colour with specific wavelength

Options :
68634010993. 1
68634010994. 2

68634010995. 3



68634010996. 4

Question Number : 49 Question Id : 6863402777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y HW & =9 T gRUIMNT IR THd ¢
1. AT Bt ughd
NI

4. fafRTy o¥T <& & Ty 3T

| ]

L)

Options :

68634010993. 1
68634010994. 2
68634010995. 3

68634010996. 4

Question Number : 50 Question Id : 6863402778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Select the correct chronological order of the Art Styles based on their time of occurance.

A. Mughal

B. Rajput

C. Pahad:

D. Patna-Kalam

Choose the correct answer from the options given below:
1.D.A.C.B
2.C.B.A,D
3.4;B8;,C.D

4.B. A C.D

Options :

68634010997. 1
68634010998. 2
68634010999. 3

68634011000. 4

Question Number : 50 Question Id : 6863402778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Sl XAl DI BIAPIHD BH Bl Tol AIpH H F-d B T |

A T
B. Io1d
C. ggrsl

D. Ue-1 Had
fAEfaRad fde e &1 9al SR &1 999 &y -

1.BoAC.B

2.C,B,AD
3.8, B.C.D

4.B.A.C.D

Options :

68634010997. 1
68634010998. 2
68634010999. 3

68634011000. 4

Question Number : 51 Question Id : 6863402779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In mezzotint engraving, printmaker uses scrapings burnishing to work from-

1. Black to white

[ ]

. Thick to thin

L]

. Opaque to transparent

o

. White to black

Options :
68634011001. 1
68634011002. 2



68634011003. 3

68634011004. 4

Question Number : 51 Question Id : 6863402779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Helfde I iuH o SR Bhit 3R aFRTT STy &d ¢ |
1. Tl 9 9bg
2. TIEt 9 gadl
3. 3Oy ¥ Wy
4. Gthe ¥ DIell

Options :

68634011001. 1
68634011002. 2
68634011003. 3
68634011004. 4

Question Number : 52 Question Id : 6863402780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R

Assertion A: Traditionally. etching and engraving have been limited to a play of lines and tones. with the
etching plate used merely as carrier upon surface the image was drawn.

Reason R: Due to imagimative experimentation, the versatility of etching and its rich potential as a means of
expression are continuously being revealed.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A 15 not correct but R 1s correct

Options :

68634011005. 1
68634011006. 2
68634011007. 3

68634011008. 4

Question Number : 52 Question Id : 6863402780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

MgaEfrmt Armt RRaME |
F A - IR &R W wiew 3R schioh Y 3k @ o Rfa @ &, ofin & we & 3w

He/Aea & ¥4 & AT A1 & o] §fe W Y@ & ol © | o
gaﬁﬁuﬁmmawmmwuﬁmmmmwammm
SR F 3 U @ A Ry T R 3 ¥ g S9E W R |
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Options :



68634011005. 1
68634011006. 2
68634011007. 3

68634011008. 4

Question Number : 53 Question Id : 6863402781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Water colours consist of pigments mainly mixed with

1. Linseed o1l

| ]

. Gum arabic
3. Chalk

4. Wax

Options :

68634011009. 1
68634011010. 2
68634011011.3

68634011012. 4

Question Number : 53 Question Id : 6863402781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gTex HeR 0T T 30 3 fa avi g 2 -
1. fifrs smger / sradt &1 dad
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4,999 / HiF

| ]
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Options:

68634011009. 1
68634011010. 2
68634011011.3

68634011012. 4

Question Number : 54 Question Id : 6863402782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Mural paintings of Badami Cave 1s associated with-
1. Buddhism
2. Jainism

. Sharvism

L)

4. Vaishnavism

Options:

68634011013. 1
68634011014. 2
68634011015.3

68634011016. 4

Question Number : 54 Question Id : 6863402782 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

SIeH! E &l R Er dEtias
1.6l
2.5

=

3.%d
4. 9Wg

Options :

68634011013. 1
68634011014. 2
68634011015. 3

68634011016. 4

Question Number : 55 Question Id : 6863402783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Sittanvaszal caves are associated with which religion?

1. Jamism

| ]

. Buddhism

L]

. Hinduism

4, Islam

Options :

68634011017. 1
68634011018. 2
68634011019. 3



68634011020. 4

Question Number : 55 Question Id : 6863402783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ra-Taree %] g 4 § TrEfEd § 2
1.5
2. 9%
3. 16
4. ST

Options :

68634011017. 1
68634011018. 2
68634011019. 3

68634011020. 4

Question Number : 56 Question Id : 6863402784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The etching solution: 1 part Nitric Acid and ten parts of water. use for etching process:
A. Correct
B. Not correct

C. May be
D. None of the above

Choose the correct answer from the options given below:
1. A only
2. B only
3. C only

4.D only

Options :

68634011021. 1
68634011022. 2
68634011023. 3

68634011024. 4

Question Number : 56 Question Id : 6863402784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



T °TE - W YT 51 UGS SR aqal W Ol &1 Wi SR wibar H i & |
A el

B. 1eld
C. MY
D. SR # Py Tol
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1. Had A

2. %90 B
3.%ad C
4, %90 D

Options :

68634011021. 1
68634011022. 2
68634011023. 3

68634011024. 4

Question Number : 57 Question Id : 6863402785 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other 15 labelled as Reason R
Assertion A: Screen printing requires a wet paper for printing, so that it can absorb the water based ks,
Reason R: Screen printing requires a paper that is stable, since it maybe overprinted many times.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R 15 the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R 15 not correct

4. A 15 not correct but R 1s correct



Options :

68634011025. 1
68634011026. 2
68634011027. 3

68634011028. 4

Question Number : 57 Question Id : 6863402785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

RaeEttmE AsmtiRRERTE |

7 A - & fiftar & ous & o il s & smovasar od € o a5 weh smafa s ar
g & §F |
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Options :

68634011025. 1
68634011026. 2
68634011027. 3

68634011028. 4

Question Number : 58 Question Id : 6863402786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Nandlal Bose, Dhaki. Haripura paster painted in which media-

A. 01l on canvas

B. Drawing on canvas
C. Tempera on paper
D. Wash on paper

Choose the most appropriate answer from the options given below:

1. A only

[ ]

. B only
3. C only

4. D only

Options :

68634011029. 1
68634011030. 2
68634011031. 3

68634011032. 4

Question Number : 58 Question Id : 6863402786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



T-Gad S, 21T, §RYRT UIer &l fby mreny o {7 fabar -

A T 3T By

B. 331 arméa—rmm;
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D. a9 34 U0

fArafefa Oeey o ¥ 3w &1 999 &Y |

1. ad A

2. FAdAB

3.64d C

4. HAAD

Options :

68634011029. 1
68634011030. 2
68634011031. 3

68634011032. 4

Question Number : 59 Question Id : 6863402787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: The frame 15 support over which fabric 1s stretched: together they make up one sereen.

Reason R: The screen 1s an open-weave mesh stretched on a rectangular frame that may be made of wood or
metal and is square-section.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A ts correct but R is not correct

4. A 15 not correct but R 15 correct

Options:

68634011033. 1
68634011034. 2
68634011035. 3
68634011036. 4

Question Number : 59 Question Id : 6863402787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A e kT Awud ¥ SRR @R § |
®I A - 5 @ T ST F diea e # forn e 8, 59 UeR gl e o g b
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Options:

68634011033. 1



68634011034. 2
68634011035. 3

68634011036. 4

Question Number : 60 Question Id : 6863402788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Proportion in a work of Art refers to-
1. Sumilarity

2. Relative ratio

L)

. Repetition

EE

. Unity

Options :

68634011037. 1
68634011038. 2
68634011039. 3

68634011040. 4

Question Number : 60 Question Id : 6863402788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hal § BIH Bl U § Y& Hid el g
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Options :
68634011037. 1
68634011038. 2

68634011039. 3

68634011040. 4

Question Number : 61 Question Id : 6863402789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What 1s pallate knife?

1. A tool for mixing and spreading pamnt
2. A tool used in stone carving
3. A tool used to carve linoleum block
4. Butter knife

Options:

68634011041. 1

68634011042. 2

68634011043. 3

68634011044. 4

Question Number : 61 Question Id : 6863402789 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ucic 91 1 &
1. 37 fam 3R B dH &1 3uH00
. geR gDl U0

foreT® S v 3uEHeu

4. TFG D

[ ]

L]

Options :

68634011041. 1
68634011042. 2
68634011043. 3

68634011044. 4

Question Number : 62 Question Id : 6863402790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of Intaglio printing process.
A. Plate preparation
B. Inking the plate
C. Preparing the paper
D. Printing
Choose the correct answer from the options given below:
L&B.C D
28 BB
A s B

4. D.C.B.A



Options :

68634011045. 1
68634011046. 2
68634011047.3
68634011048. 4

Question Number : 62 Question Id : 6863402790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

scfie fUifdT ufshar 1 Srares § ama

A e dOR &
B. ¢ UR S1 &l
C. U9R dOR @Al
D. fie o1

A & 7w eedl  HEN ST ol 99 $Y |

LAB, G D

[ ]

ACE; By D

AD,C B

L]

4. D, C. B.A

Options :

68634011045. 1
68634011046. 2
68634011047. 3

68634011048. 4

Question Number : 63 Question Id : 6863402791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Dutch artist Jan Vermeer used 'Camera obscura' to assist his drawings

Statement II: Camera obscura was not invented until 18™ century.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement [ is correct but Statement IT 13 incorrect

4, Statement [ 1s incorrect but Statement II 15 correct

Options :

68634011049. 1
68634011050. 2
68634011051. 3
68634011052. 4

Question Number : 63 Question Id : 6863402791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

=t 2 By BT A §
FUF | . 39 FOOR A WER' @ & o0 FF0 AeqF g & 7@ g & |

FUA || - B IETFY 1 HATHR 1890 T F A I A |
SWIad S & fdd & A QT o [Gshedl & € ¥E¥ ITqEd IR I |
1. 2w | g @y Il w8 ¥

2.2 #4919 U= 1979 &

3. & | T8 oft wu= lloreg &

4. Fu7 | 7o AT w1590 &

Options :

68634011049. 1



68634011050. 2
68634011051. 3

68634011052. 4

Question Number : 64 Question Id : 6863402792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R

Assertion A: In relief printmaking. the image created is reversed form of the original drawing on the block.

Reason R: It is an image produced by a raised surface which is inked by a roller and then the impression 1s
transferred on paper by applying pressure on the entire block evenly.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 18 the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R 15 not correct

4, A 15 not correct but R 15 correct

Options:

68634011053. 1
68634011054. 2
68634011055. 3
68634011056. 4

Question Number : 64 Question Id : 6863402792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



g et Asmt R R E |
FY9 A - 3HR Fag e &, s W 36! WA @1 3e¢ 396 a1 © |
#AO R . 58 38 F6 § O IR [ S, S TR 8 3L A9 R 5% s Sl ¢ acu
ol T VW TG §AF a1 Sead fie fordn o & |
Wi HA F s A AR BT 0 e d @ gaR SR IR G |
1.g AR R @& § 3R R, A & w8 arer ¢
2. AR R @ § AR R, A & Qe T ¢
3. A W Aft R 7o &

4 ATod T R8T &

Options :

68634011053. 1
68634011054. 2
68634011055. 3

68634011056. 4

Question Number : 65 Question Id : 6863402793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 15 labelled as Reason R
Assertion A: Through Reduction Block method in printmaking unlimited edition of prints can be taken.
Reason R: In Reduction Block method the block 1s cut every time after taking print for one colour.
In the light of the above statements, choose the most appropriate answer from the options given below:
1. Both A and R are correct and R 18 the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R 15 not correct
4. A 1s not correct but R 1s correct

Options :

68634011057. 1



68634011058. 2
68634011059. 3

68634011060. 4

Question Number : 65 Question Id : 6863402793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dvmua v i AFua E 3N R FROT S |
FUA A -t ogud fY & yfRfag e R s s &
FROT R - o0 oged OfY & soie @ us o1 @ fi oF § A o g 38 &l 9T |
SR B & U & A BT T Reped & § FaR T IR T |
1. AR R A & 3k R, A & o o
28ATAMRRET E L R A & = 7 §
3.A 59 afsa R oo &

4. A 7o @finT R @81 &

Options:

68634011057. 1
68634011058. 2
68634011059. 3

68634011060. 4

Question Number : 66 Question Id : 6863402794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Balance I. |Arrangements of formal elements
Chiaroscuro | II. | Outline of a figure
Composition |III |Arrangement of parts
Contour IV, | Graduation of light and shadow

o|ofw[>

Choose the correct answer from the options given below:

1. A-TIL. B-IV. C-II. D-I

| ]

. A-IIL B-II. C-IV. D-I
3. A-IIL B-IV. C-1. D-II

4. A-IV. B-II. C-III. D-I

Options:

68634011061. 1
68634011062. 2
68634011063. 3
68634011064. 4

Question Number : 66 Question Id : 6863402794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



AT 11 gt 11 3 fHaH Sifo

T I T
A [qeH I |3OATRS dedf Dl ogawy]
B. [tRIGHERI 11 [31pid @1 suEl
C [gareH 1L [HIT 1 oqey]
D. [¥U-3El IV. [&T UPTE &1 hH
FafaRad [Geel & I I8t SR &1 999 Pioid -

1. A-TIL. B-IV. C-II. D-I

| ]

. A-III B-II. C-IV. D-I
3. A-IIL B-IV. C-1. D-II

4. A-IV. B-II. C-III. D-I

Options :

68634011061. 1
68634011062. 2
68634011063. 3

68634011064. 4

Question Number : 67 Question Id : 6863402795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: KG Subramanyan 1s a well known pamter famous for his paintings on acrylic sheets.
Reason R: KG Subramanyan is known for his terracotta tiled murals.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R s the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R 1s not correct

4. A 1s not correct but R 1s correct

Options :

68634011065. 1
68634011066. 2
68634011067. 3

68634011068. 4

Question Number : 67 Question Id : 6863402795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT gAY RU A E: AT AR R FWOTE |
U A - & J GIAvIH U ufeg AEeR €S whfew o # ofér & fw ufgg €

SLERR SRl Tt L
LENMAIMRT EIR AH 7 et
2. A 3R R @@ € 3R R, A &1 TE = 6 ©
3. A @& 3fd R e &
4. A Td @ R @ &

Options :
68634011065. 1

68634011066. 2



68634011067. 3
68634011068. 4

Question Number : 68 Question Id : 6863402796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Oxides of chrome and Green earth pigments to be used for colour pastel.

A. Brown
B. Blues
C. Reds
D. Greens

Choose the correct answer from the options given below:

1. A only

| ]

.D only
3.B only

4. C only

Options:

68634011069. 1
68634011070. 2
68634011071.3

68634011072. 4

Question Number : 68 Question Id : 6863402796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



PR Ued & forg HiEr 3R Wi fire ST & o .,

AT
B. Aidl
C. ad
D. gl

Heafoiaa A@eg & HEI TR &1 999 &1 |
1. Had A
2. ®ddD
3. Pad B
4,da C

Options :

68634011069. 1
68634011070. 2
68634011071. 3

68634011072. 4

Question Number : 69 Question Id : 6863402797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R
Assertion A: The pigment 1s o1l paints needs to be properly grounded.
Reason R: This way each particle is coated 1n o1l and 15 plastic and viscous enough to get the desired effects.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 18 the correct explanation of A

2. Both A and R are correct but R 1s NOT the correct explanation of A

3. A is correct but R 1s not correct

4. A 15 not correct but R 15 correct



Options :

68634011073. 1
68634011074. 2
68634011075. 3

68634011076. 4

Question Number : 69 Question Id : 6863402797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
g Ammt ik Rawwr E |
w49 A . e & 399 R @ 30 § e 50T ¢
%T%R;wmﬁmmﬁﬂﬁﬁﬁaﬁm%mmﬁmmwmaﬁvmﬁuﬁwm
|
SR B & Uled & A T I et # § wa IRE 7 L |
L3 A IR R & & 3R R, A& Wl e ¢

2T AR R & 3k R A w5 E

3.A W% T R awa ¥
4. A 7o AT R &8 §
Options :

68634011073. 1
68634011074. 2
68634011075. 3

68634011076. 4

Question Number : 70 Question Id : 6863402798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Select the water soluble painting mediums.

A. Gouache

B. Acrylic paints
C. Oil paints

D. Water colours
E. Inks

Choose the correct answer from the options given below:
1.D,E.A€
2.A,B,D.E
3.B,C.D. B

4. A.B.C.D

Options :

68634011077. 1
68634011078. 2
68634011079. 3

68634011080. 4

Question Number : 70 Question Id : 6863402798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ui Oreny § O © go-giiel ded i Ugd &3

A TdY

B. Ushidid el / T
C. dad HaR /I

D. &d 3

E.3®

fAafafa Oeey # | T/ &1 999 &Y |

1L.D.EAC
2B I B
3B, B E

4 A B.C.D

Options :

68634011077. 1
68634011078. 2
68634011079. 3

68634011080. 4

Question Number : 71 Question Id : 6863402799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R

Assertion A: For a woodcut. one drawing 1s transferred to a wood block. The blank arcas are gouged away.
leaving the drawing in relief.

Reason R: In an etching, the grooves on the plate are made chemically by acid which corrodes and eats info
the metal.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R 15 NOT the correct explanation of A
3. A is correct but R is not correct

4. A 15 not correct but R 1s correct

Options :

68634011081. 1
68634011082. 2
68634011083. 3

68634011084. 4

Question Number : 71 Question Id : 6863402799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

RasmtrmE AsmtiRRaRT |

110 O A Tl T L s ) | v e o 0 B s | e e = e s i e B e T
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Options :



68634011081. 1
68634011082. 2
68634011083. 3

68634011084. 4

Question Number : 72 Question Id : 6863402800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Natural pigment 'Cinnabar’ is used to obtain the colour-

1. Violet

[ ]

. Yellow

. Vermilion

L]

4. Black

Options :

68634011085. 1
68634011086. 2
68634011087. 3

68634011088. 4

Question Number : 72 Question Id : 6863402800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TP T RFAER ST Yh a3 WA §d ¢ -

1. ST
2. gl
3. gl
4. BTl

Options :

68634011085. 1

68634011086. 2

68634011087. 3
68634011088. 4

Question Number : 73 Question Id : 6863402801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The 'Kalighat' inspired paitings of Jamini Roy were painted in the medium of-

1. Water colours

[ ]

. 01l painting

LF%]

. Tempera

4. Charcoal

Options:

68634011089. 1
68634011090. 2
68634011091. 3

68634011092. 4

Question Number : 73 Question Id : 6863402801 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

PrAYe Y GUId PR oMa-I A A e §  HIH &1 Wi foa
1. 5q
2. A feom
3. SER
4, IRDIA

Options :

68634011089. 1
68634011090. 2
68634011091. 3

68634011092. 4

Question Number : 74 Question Id : 6863402802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: The advantage of prints is that the artist reproduce the same 1mage over and over again.
Statement IT: Without stencils. screen print is not possible.

In the light of the above statements, choose the correct answer from the options given below:
1. Both Statement [ and Statement IT are true
2. Both Statement [ and Statement I are false

3, Statement I 15 true but Statement IT 15 false

4. Statement I 15 false but Statement II is true



Options :

68634011093. 1
68634011094. 2
68634011095. 3
68634011096. 4

Question Number : 74 Question Id : 6863402802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CIE RO RIS
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Options :

68634011093. 1
68634011094. 2
68634011095. 3
68634011096. 4

Question Number : 75 Question Id : 6863402803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I Linocut effects similar to serigraphy.

Statement IT: The ancient Egyptians, Indians. and Arabs used wood block relief printing methods to stamp or
print designs on fo textiles.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement I are correct
2. Both Statement I and Statement IT are incorrect
3. Statement [ 1s correct but Statement II 1s meorrect
4, Statement [ 1s incorrect but Statement IT 1s correct

Options :

68634011097. 1

68634011098. 2

68634011099. 3
68634011100. 4

Question Number : 75 Question Id : 6863402803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634011097. 1
68634011098. 2
68634011099. 3
68634011100. 4

Question Number : 76 Question Id : 6863402804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The rubber blade set in a handle with this screen nk pulled across the mesh. known as
1. Squeeze
2. Brush

3. Roller

4. Sponge

Options :

68634011101. 1
68634011102. 2
68634011103.3

68634011104. 4

Question Number : 76 Question Id : 6863402804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68634011101. 1
68634011102. 2
68634011103. 3

68634011104. 4

Question Number : 77 Question Id : 6863402805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Palette knife for handling the pigments and for painting. also known as

1. Hog Hair Brush
2. Spoon
3. Kmife
4. Spatulas

Options:

68634011105. 1

68634011106. 2

68634011107. 3

68634011108. 4

Question Number : 77 Question Id : 6863402805 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3G B FRITTH 3R Ui & fog Udie 919 &1 o1 offdl §

1. STCi 3R P &1c BT 512

3.8
1.7

Options :

68634011105. 1
68634011106. 2
68634011107. 3

68634011108. 4

Question Number : 78 Question Id : 6863402806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Lithographic images were prepared on block of
1. Wood
2. Limestone

. Sereen

L)

4. Stone

Options :
686340111009. 1
68634011110. 2

68634011111. 3



68634011112. 4

Question Number : 78 Question Id : 6863402806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R ggur fo &1 frd &6 W ATR FA ¢ |

1. dds
2. forul e
3. &/ BUST
4. TR

Options :

68634011109, 1

68634011110. 2

68634011111. 3

68634011112. 4

Question Number : 79 Question Id : 6863402807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The darkness and lightness of colours 1s:
1. Shade
2. Tint
3. Tone

4. Space

Options :



68634011113.1
68634011114. 2
68634011115. 3

68634011116. 4

Question Number : 79 Question Id : 6863402807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TERI BT 3R UHIY F S Siarg |

1. Bl

| ]

NITd
3.dM
4. TH

Options :

68634011113. 1
68634011114. 2
68634011115. 3

68634011116. 4

Question Number : 80 Question Id : 6863402808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I LISTII
A |Self portrait, NGMA [. JAmrita Shergil
B. |A tired women and men, NGMA| IT. |Paramjit Singh
C. [Sweet home - NGMA II1. |Arpita Singh
D. |Pleasure of nature - NGMA IV. [Haren Das

Choose the correct answer from the options given below:

1. A-II. B-III, C-IV. D-I

| ]

. A-I. B-IIL. C-IV. D-II
3. A-II. B-IV. C-III. D-I

4. A-I. B-IV, C-III, D-II

Options:

68634011117. 1
68634011118. 2
68634011119.3
68634011120. 4

Question Number : 80 Question Id : 6863402808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. A-II. B-III. C-IV. D-I

| ]

. A-I. B-IIL. C-IV. D-II
3. A-II. B-IV. C-III. D-I

4. A-I. B-IV, C-III, D-II

Options :

68634011117. 1
68634011118. 2
68634011119.3
68634011120. 4

Question Number : 81 Question Id : 6863402809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Chevreul's theories underpinned. 'The painter's use of colour in the late 1oth Century.

A. Renaissance
B. Impressionist
C. Mannerism
D. Baroque

Choose the correct answer from the options given below:
1. B only
2. Aonly
3. C only

4.D only

Options :

68634011121. 1
68634011122. 2
68634011123. 3

68634011124. 4

Question Number : 81 Question Id : 6863402809 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1991 Tt P 3 T B R FR1YT &1 IUGN d Y a0 & Rigri P! o fepgr |

i
%p
i
:
3
g
EL

3. 940 C
4, 5GA D

Options :

68634011121. 1
68634011122. 2
68634011123.3

68634011124. 4

Question Number : 82 Question Id : 6863402810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Wood engraving equipment:
A. Copper plate
B. Zinc plate

C. Stencil
D. Graver

Choose the most appropriate answer from the options given below:

1. D only

| ]

. Aonly

Tz

. B only

4. C only

Options :

68634011125. 1
68634011126. 2
68634011127.3

68634011128. 4

Question Number : 82 Question Id : 6863402810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



ad el Ip U IUBITE |

A BIR e
B. foi® @i
C. Thd
D. gl@l

HFTaiad Owey & G981 3T &1 994 6L |
1.$%dd D

2. Pad A
3. hdd B
4, Pad C

Options :

68634011125. 1
68634011126. 2
68634011127.3

68634011128. 4

Question Number : 83 Question Id : 6863402811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST IT
A | Karbala, Acrvlic 1. | Manu Parekh
B. | After the cyclone, Acryvlic I1. | Satish Guyral
C. |Landscape II (Banaras), Acryliq ITI. | MLE. Hussain
D. | Playmates, Acrvlic IV. | Paritosh Sen

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

| ]

. A-IV, B-III. C-II. D-I
3. A-IIL B-IV. C-1. D-II

4. A-III. B-IV. C-11. D-I

Options:

68634011129. 1
68634011130. 2
68634011131.3
68634011132. 4

Question Number : 83 Question Id : 6863402811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-II. C-III. D-IV

| ]

. A-IV, B-III. C-II. D-I
3. A-IIL B-IV. C-1. D-II

4. A-III. B-IV. C-11. D-I

Options :

68634011129. 1
68634011130. 2
68634011131.3

68634011132. 4

Question Number : 84 Question Id : 6863402812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: Gamboge is a gum resin used to extract yellow pigment.
Statement IT: Yellow pigment was made using urine of cows fed with mango leaves,
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are icorrect
3. Statement [ 1s correct but Statement II 1s incorrect
4. Statement I 1s incorrect but Statement I1 1s correct
Options :
68634011133. 1
68634011134. 2

68634011135. 3

68634011136. 4

Question Number : 84 Question Id : 6863402812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634011133. 1
68634011134. 2
68634011135. 3

68634011136. 4

Question Number : 85 Question Id : 6863402813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Amar Nath Sehgal's work Ganesha medium is-

A. 01l

B. Silkscreen
C. Acrylic
D. Water

Choose the correct answer from the options given below:

1. A only

[ ]

. B only

L)

.D only

4. C only

Options :

68634011137. 1
68634011138. 2
68634011139. 3

68634011140. 4

Question Number : 85 Question Id : 6863402813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



SERATY BT 1 o fg a5 1 |

A dd
B. e i&ng

C. Uhiaid
D. Ul

HFTaiad Owey & G981 3T &1 994 6L |
1. hdd A

2. Had B
3.%ddD
4, Pad C

Options :

68634011137. 1
68634011138. 2
68634011139.3

68634011140. 4

Question Number : 86 Question Id : 6863402814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Jackszon Pollocle| 1. | Brush and Ink
Pablo Picasso II. |Enamel on Canvas

Zainul Abedin | IIL | Etching
Anupam Sud IV | Collage

o|o[w[>

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

| ]

. A-IV. B-1. C-II. D-III
3. A-II. B-IV. C-I, D-III

4. A-I. B-IV, C-II, D-III

Options:

68634011141. 1
68634011142. 2
68634011143.3

68634011144. 4

Question Number : 86 Question Id : 6863402814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-II. C-III. D-IV

olafw]s

| ]

. A-IV. B-1. C-II. D-III
3. A-II. B-IV. C-I, D-III

4. A-I. B-IV, C-II, D-III

Options :

68634011141. 1
68634011142. 2
68634011143.3
68634011144. 4

Question Number : 87 Question Id : 6863402815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



What 1s Relief Printing?

A. Relief printing 1s the oldest form of printmaking.

B. The ink 1s applied to the raised surface which gets printed.
C. The areas removed will not get printed.

D. Wood cut and linocut are the form of relief printing.

E. Mezzotnt 1s a form of Relief Printing.

Choose the correct answer from the options given below:
1.8, €. 1 Fonly
2.A,.C.D,E only
3.A.B.C.E only

4. A.B.C.D only

Options :

68634011145. 1
68634011146. 2
68634011147. 3

68634011148. 4

Question Number : 87 Question Id : 6863402815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. $ddB.C.D.E

2. $dd A.C.D.E

3. PddA.B.C.E

4, PIAA.B.C.D

Options :

68634011145. 1
68634011146. 2
68634011147.3

68634011148. 4

Question Number : 88 Question Id : 6863402816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s a Picture Plane?

A. The point in a picture where all orthogonals meet.

B. The flat surface on which a picture is painted.

C. A system of representing 3 dimensional on 2 dimensional surface.
D. An architectural drawing presenting a building.

E. Top of the sculpture.

Choose the most appropriate answer from the options given below:
1. D only
2. C only
3. B only

4. E only

Options :

68634011149. 1
68634011150. 2
68634011151. 3

68634011152. 4

Question Number : 88 Question Id : 6863402816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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D. U AR U 3 gTell U argiRIed < |

E. fdIRIed &1 FUT Y1 |
Fafeaa @ey & FE 3T & 999 &1 |
1.Pad D

2. %ad C
3. 5dd B
4, PAdE

Options :

68634011149. 1
68634011150. 2
68634011151.3

68634011152. 4

Question Number : 89 Question Id : 6863402817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Select from the given names Indian and Western artists known for printmaking too-

A. Albrecht Durer
B. Chittoprasad

C. Amrita Shergil
D. Rembrandt

E. Raja Ravi Verma

Choose the correct answer from the options given below:
LB.CDE
LABEGD
3.A;B,D. B

4.4, C, DB

Options :

68634011153. 1
68634011154. 2
68634011155. 3

68634011156. 4

Question Number : 89 Question Id : 6863402817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1-B.C.DE
2.A.B.C.D
3.JAAB.D.E

4 A .C.D.E

Options :

68634011153. 1
68634011154. 2
68634011155. 3

68634011156. 4

Question Number : 90 Question Id : 6863402818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Select the correct group's of the Artists and Artworks.

A. Frida Kahlo - The Broken Column

B. Edward Manet - The Making of Christ
C. Gustav Courbet - Guernica

D. Titian - Olympia

Choose the correct answer from the options given below:
l.Aand B
2.Aand D
3.Band C

4. Cand D

Options :

68634011157. 1
68634011158. 2
68634011159. 3

68634011160. 4

Question Number : 90 Question Id : 6863402818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. All of above

4. None of the above

Options :

68634011157. 1
68634011158. 2
68634011159. 3

68634011160. 4

Question Number : 91 Question Id : 6863402819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the matching groups
A Intaglio - Nitric Acid
B. Planographic Printing - Litho Stone
C. Serigraphy - Stencil
D. Collagraphy - Negative
Choose the correct answer from the options given below:

l.Aand C

2.A . Band C

Tz

.Aand C

4. Band D

Options :

68634011161. 1
68634011162. 2
68634011163.3

68634011164. 4

Question Number : 91 Question Id : 6863402819 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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l.Aand C

| ]

.A.Band C
3.Aand C

4. All of the above

Options :

68634011161. 1
68634011162. 2
68634011163.3

68634011164. 4

Question Number : 92 Question Id : 6863402820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the correct sequence used in Lithography printmaking process-

A. Image transfer to the stone
B. Apply gum etch

C. Inking

D. Remove the gum

E. Remove the grease

Choose the correct answer from the options given below:
1.A,B.E,D
2. B.D.AC
3.B,C.D. B

4. 4,B. DB

Options :

68634011165. 1
68634011166. 2
68634011167.3

68634011168. 4

Question Number : 92 Question Id : 6863402820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.A,B.E. D
2.B.D.A . C
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4. A B,I:E

Options :

68634011165. 1
68634011166. 2
68634011167. 3

68634011168. 4

Question Number : 93 Question Id : 6863402821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Secco fresco | I | Dry technique of wall painting
Cartoon IT. | First laver of plastering

Full scale drawing to be

Trullisatio AL transferred on the wall

of o [w]

Buon fresco | IV | Wet technique of wall painting

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

| )

CA-IV, B-II1L C-I1. D-I
3. A-I. B-III. C-II. D-IV

4. A-IL. B-I1I. C-1. D-IV

Options :

68634011169. 1
68634011170. 2
68634011171.3

68634011172. 4

Question Number : 93 Question Id : 6863402821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-II. C-III. D-IV

| ]

. A-IV, B-III. C-II. D-I
3. A-I. B-III. C-II. D-IV

4. A-II. B-III. C-I. D-IV

Options :

68634011169. 1
68634011170. 2
68634011171.3
68634011172. 4

Question Number : 94 Question Id : 6863402822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Handmade Paper | 1. |[Etching
Canvas II. |Fresco
Zinc/ Copper plate| [I1. |O1l painting
[ime Plaster IV [Water colours

o|ofw[>

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-1. D-II

| ]

. A-IV, B-III. C-I. D-II
3. A-IV. B-1. C-III. D-II

4. A-I. B-IV, C-III, D-II

Options:

68634011173. 1
68634011174. 2
68634011175.3
68634011176. 4

Question Number : 94 Question Id : 6863402822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. A-TIL. B-IV. C-1. D-II

| ]

. A-IV, B-III. C-I. D-II
3. A-IV. B-1. C-III. D-II

4. A-I. B-IV, C-III, D-II

Options :

68634011173. 1
68634011174. 2
68634011175.3
68634011176. 4

Question Number : 95 Question Id : 6863402823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: O1l Pastels and dry Pastels are pigments i a stick form weakly bound with solution of gum.
Statement IT: O1l-pastels are mixture of pigment. waxes and animal fat/oils,
In the light of the above statements, choose the most appropriate answer from the options given below:
1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement I are meorrect
3. Statement [ 1s correct but Statement IT 1s incorrect
4. Statement I 1s incorrect but Statement IT 1s correct
Options :
68634011177. 1
68634011178. 2

68634011179. 3

68634011180. 4

Question Number : 95 Question Id : 6863402823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
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68634011177.1
68634011178. 2
68634011179. 3

68634011180. 4

Question Number : 96 Question Id : 6863402824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Soft hair brushes work best with a more liquid colour mix.
Statement IT: Soft hair brushes cannot be used with oil pamts.
In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement [ 18 true but Statement I1 1s false
4. Statement [ 1s false but Statement IT 15 true
Options :
68634011181. 1
68634011182. 2

68634011183. 3

68634011184. 4

Question Number : 96 Question Id : 6863402824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634011181. 1

68634011182. 2

68634011183. 3

68634011184. 4

Question Number : 97 Question Id : 6863402825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement [ Intaglio. printing which dertves the Italian word Tntaglione'. meaning to engrave or cut,

Statement IT: In Aquatint a plate is covered in a uniform layer of resin powder-usually resin or bitumen, and
heated from beneath.

In the light of the above statements, choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I 15 correct but Statement I 18 incorrect

4, Statement I 15 incorrect but Statement IT 15 correct

Options :



68634011185. 1
68634011186. 2
68634011187. 3

68634011188. 4

Question Number : 97 Question Id : 6863402825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634011185. 1
68634011186. 2
68634011187.3

68634011188. 4

Question Number : 98 Question Id : 6863402826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Fixatives not required for soft pastel pamtings.
Reason R: The softness of the pastels varies according to the amount of gluten contained.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R s the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R 1s not correct
4. A 1s not correct but R is correct
Options :
68634011189. 1
68634011190. 2

68634011191. 3

68634011192. 4

Question Number : 98 Question Id : 6863402826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 2 Fua fer aw &

FU | - AR Ued TF0T & fradfea f g S8 o €
FU || - UFed 6 Fiear Algg Mg N AT & JFER HeT ot &
S HYA & Ufdd # = Gr v fawedl & ¥ gaR 39gEd SR 94 |

L2 wua | g ®uT Il 997 &

2.2 ®97 |9 &9 Il e &
3. U | T8 Afhd &y ll7eg &

4. FUF | 799 e FUT | T 3

Options :



68634011189. 1
68634011190. 2
68634011191. 3

68634011192. 4

Question Number : 99 Question Id : 6863402827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R

Assertion A: To be really effective i the use of inks i colour printmaking, we must develop a closeness with
the world of colours: we have to understand the behaviour of color on a molecular level.

Reason R: Without understanding the behaviour of colour on a molecular level one cannot use inks in colour:
as the inks will not work at all.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R 1s not correct
4. A 15 not correct but R 1s correct

Options :

68634011193. 1

68634011194. 2

68634011195. 3

68634011196. 4

Question Number : 99 Question Id : 6863402827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634011193. 1
68634011194. 2
68634011195. 3
68634011196. 4

Question Number : 100 Question Id : 6863402828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Some Paints, for instance. are translucent - you can see through them.

A. Encaustic

B. Mural

C. Water colour
D. 01l

Choose the most appropriate answer from the options given below:
1. A Only
2. B Only
3. C Only

4. D Ounly

Options :

68634011197. 1
68634011198. 2
68634011199. 3

68634011200. 4

Question Number : 100 Question Id : 6863402828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634011197. 1

68634011198. 2

68634011199. 3

68634011200. 4



